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Candidates shall note that each guestion will be multilingual, viz., in
English [ Assamese / Bengali/ Bodo ! Hindi medium, for their ready reference.
In case of any discrepancy or confusion in the medium [version, the English

verston will be considered as the authentic version.
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SECTION—A / F—=()l | F—x1<1 [ F—argrl / F—4T
Choose the eorrect answer :
W, TEafh (e TG -
LE| iﬁﬂﬂm@m’mﬁ@ :
e 3w g -

1. Which of the following is not a perfect square?
ST (G 5 S =

Bzl o U Rt b
TEEE Toa =9 st 9257
Frferfiaa 3 & F-wh wen o =i 398 42

(a) 441 (b) 572 (e} 576 (d) 729

oy
_E] i
¢ 24

| mm s

2. The value of

24
~2| @ g

i 24
~Z| A= amm

4
- Eakeich

=5 =35 8 16
(a) 5 (B 31 (c) == (d) =

8. The HCF of 135 and 225 is
135 =F 225 =1 4718, %'
135 <39 225 <% ST, I
135 = 225 7 23w 9w
135 AR 225 71 9. |, &

(@) 30375 (b) 945 () 45 (d) 156
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4. A bell rings at every 18 seconds and an another bell rings at every
60 seconds. If these two bells ring simultaneously at an instant,
then the bells will ring simultaneously again after 1

51 0 18 (IES I W G5 99 60 (ET0T WEIES A0 | T OF

TS OAIGT 91 GTFel A, (508 OR W o e 9461 91 o
e giain) Eof:

TG BD1 18 Cs 32, e <2 9% 60 CRaTET WY T0E | @ 9%
T GG UG R A A, TEE E T ONFS K 96§ o
G AME '

HHE BT 18 HHUE AN TEA SEE g2 60 dEvs srmens f wiE | e
THE R A g mEen f miE), 3R S8 $3veR e 9= Seaen
5 wie 7 mmiET

TH 5 18 deee 3 gEll 9 60 ¥ ¥ ofue W wwdt ¥ aft feh uw

W 9 EA R e e g, ﬁﬁmﬁﬁh%mﬁuﬁmaq pca
g Tt

() 30 seconds / CifT9 / OIS [ UHUE | Wi in
(b} B0 seconds / (TS [/ CTES [ HEE [ HF=
(c) 90 seconds / (%8 [ CFS [ THvE [ Hhg

() 180 seconds / (50%8 | OFS | U [ TE=

5. Which of the following is a polynomial? 1
O (AL T 2 :
oz GRS T 2 5
w8
fmfefen § & wH-m 95w 27

1
x2+2:+19

(c) 1 (d) +fx+19
x+19

(a) B x*+2zx+19
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6. Consider the following pairs of linear equations :

T LA TR (IRTRRn R 16

ierd (S TR (W R A

TR TRt TR W e a9

Frerferiam e wim & gl m em 9

(i) 8x+2y=5 2x+3y=5

(i} dx-3y=9, 4dx-3y=38

Choose the correct alternative.

o ! A1 Biyed |

ws b am s

4 wiiveh weE' R

wet o g

(@) The pairs in (i) and (i) are consistent / (1) = (ii) 9 (74 (AR
S /(1) =8 (1) -9 CHEIETE A /(1) AR (i) F = TR '@
! (i) #A% (1) 9 3w i #

(b} The pairs in (i) and (i) are inconsistent /[ (i) 9% (i) 3 @/

— (PR WS [ (1) R (1) CErEIE s /() SR (i) B

=R R/ (5) 3 () § e §

¢/ The pair in (i} is inconsistent, whereas the pair in (i) is
consistent / (i) %@ CIFGH *Pore, 9 (i) 3 COMOBT H090 / (1)-a9
CaEIi wsre, 8 (10)-aq carer® e /() B = Te S,
(i) T o TR WEEE (i) R g e R, w6t () 6 g o b

(d) The pair in (i) is consistent, whereas the pair in (i) is
inconsistent / (i) =9 (AFE TRIE, 98 (i) T ORCH RIS / (i)-om
CHTEITG 578 (395 (14)-@ (ool =pieste / (i) B = e e, am
(i) T =k @t /() B g o 3, il i) % gw

7. The number of roots of the equation (x +2)° = 2% — 4 is 1
(x+2)° = % — 4 TR 1 wem 2=

(x +2)° = x® — 4 SRR o g g

(2 +2)? = 2% — 4 FARUER ef sEhmm TR

T (x +2)° = x° — 4 % el ) v b

(@) 4 ) 3 fe) 2 ) 1
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R The first term of an AP is 4 and the common difference is -3,
The fifth term is 1

o1 T 2R SR o 4 S R I -3 20, A9 ol 1]
<% R oioR SN oF 4 0% IR W —3 T, A o 29
T we Al fify fem 4 e e sy —3 e, 909

T e
17, AT e v T 4 ) o we s -3 R T R
(@) -8 M =11 (c) 16 (d) 19

9. D and E are points on the sides AB and AC respectively of a
triangle ABC. DE || BC, DB=17-2¢em, AE =18 cm, EC = 5-4 em.
AD iz 1
ABC fiz= AB w% AC 9% @@ D 5% E ¥ %1 DE| BC,
DB=T7-2em, AE=1.8 ¢m, EC = 5-4 em. AD %9
ABC frgrss AB % AC 317% & D &% E 1 %1 DE || BC,
DB=7-2cm, AE=1-8 em, EC =5 4 em. AD T
ABC smaisumi AR aM AC svai4l 7AW Wi D am E o9
f=t| DE||BC, DB=T7-2¢m, AE=1-8 em, EC=5-4 em. AD &
o =
e T ABC 1 qaali AR v AC w wmm: g D ofv B 72w #1 3R
DE||BC, DB=T7-2em, AE=1-8 em 70 EC=5-4 em 7 %, 9

AD 179 B
@ 48ecm (b)) dbem f¢) Zdem  (d) 12em
10, The distance between the points (a, b) and (—a, - b) is 1

(a, b) &1 (~a, - b) 147 T6R TR T8 £

(e, b) 3t (~a, ~ b) T ¥l 0 0% o1

(e, b) 0 (~a, - b) Tt T TR T T
firgedt (0, b) o (~a, - D) F AR Fh 3

@ Welsb? b dya® b

(e} 0 (d 2(a+b)
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11. The surface area of a cube is 600 m?. The length of each edge 1s 1
b1 T *BIE 600 m2, wabE afect) nifes o 2’7
< T B o 600 m 2, waba afefs @ 1 awEw ol ==
Al we rgesemsf 600 m2. wEf smanfaf 9w
TF T4 %I TEE 466 600 m2 2| v feR @ wn A aa R
(@) 15m () 10m (e} 8m (d) 5m

12. What is the probability of getting a number 9 in a single throw of
a die? 1

61 sl warm w9 ¢ e w0

36 Tpelt o= T 9 “ouw R TS 7

TEER W TEEEE 9 It S ST i
UF U I U AN A W 9 U #R o w27

3
(a) 2 (b 1 (c) 3 ) 0

SECTION—B / 34—l / 3—1l | W—=mgmmt / m—sym

13. The length of a rectangle is three times its breadth. If the area of
the rectangle is 432 cm?2, find its perimeter.

aﬁmhﬂwmﬁﬁﬁﬁuﬁm@mﬁmmﬁdaﬂcmzqﬁ
S A Bty 4| ’

mwmmmﬁhmuwﬁmﬁﬂﬂcmﬂ
oA, G S [

WA ARAEsEE ERe At swuER wwEym) HREECTER zseRe
ﬁﬂcmzm?%ﬁmﬁlﬁw&@l

TR AT R s S e R T R Al s e 499 o 2
#, @ gkt afom g i)

2

~GM/30A
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14, If x varies directly as y, and x = 6 when y = 30, then find the value
of ¥ when x =2.

M x y I FNS FErverg 639 @ 9F y=30 T x=6; (R
x =2 % A y 3 IA Fefy 74T

MW x, ya9 7w AerFerd @ @ @R y=230 TH x=6; A
x =2 O3 T y 7 TW ey

g x w y F oSt emm AW y =230 wEET x=6; = =2
qrEy y 7w B

ﬂﬁxﬁﬂywﬂfﬁl%,ﬁﬂxzﬁﬁﬂ'ﬁ!ﬁy:aﬂﬂ%,ﬁfyﬁrm;—fmaﬁﬁm

H x =2 B OO
EIES
156. BSolve the following pair of linear equations : 2
oo LA AR T =
e Gl AR CTelh AW w0
MEEH SRE AR 5 UF AEEaE B
Frefifian s @il % 7w 5t ga fifaw

0-2x+0-8y=1-3
0-4x+0-5y=2.3

16. The product of two consecutive positive integers is 306. Find the
integers, o

WO TR CIRRE W T [ 306 20, T o ey 3
G TR ST W SR o 306 T, e 5k fen

A il g T sEfEn aEsETRen 306 wEEen, At e
sl Of=0

=1 AT YT O PR 306 21 quitsl 1 3w i G e

B21-GM/30A [ Contd.
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17. Find the number of terme of the following arithmetic progression: 2
W A SRR A g 74
Teea srE asfEna oo R e
TeE g dmfal frmEf amfmme R -
Frafefian w2 % w8 6 vwen Tw Fif

7, 13, 19, -, 205

18. A line intersects the sides AB and AC of a triangle ABC ;& D and E

. AD
respectively, and is parallel to BC, Prove that AB Yol

maﬂﬁﬂﬂcmﬂﬂﬁWAewmﬂfﬂWEﬁT@mw

AD AE
(UEE BC 4 Fm@am= | o9 36 (0 —— = —.,
AB AC

9 @1 ABC firgrem AB iy AC Tgs w1 D @3t E Frqre 316 @

caTfs BC <= FImEaE | J91 AD _AE
Wﬁﬂﬂ T

oE BT ABC sEiiymf AR I AC s wid D Wl E

Rrioma Ta'd A wigen BC i o) womm aem i AL _ AE
ARB AE‘

w1t vw s ABC 9 y=iait AB 3 AC % #wm: D a3fn E w wheag
et & A e BC % wwiw | g b iy AL - AE

AR AC
o =T, e et 05 z
o=, o By
A= e LD

{1 + sin®) (1 - sinf)

e e s msﬂ}ﬁ feg

7
g’
T (14 sin@){1— sinf)
= —, Tl
AR ceth=2, A+ cost)(1—cosg) " T e |

B21-GM/30A [ Contd.
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20. If sin(x+y) =1, ms{x—y}zg and x>y, 0°<x+ y<90° then
find x and y. 2

iy sin{x+ y) =1, m{x—y}:?wx}:ﬁ 0°< x4+ y < 90°, CoE

x FF y Fefg =0 |

T sin(x+ ) =1, ms[::—y}=1;—§ 3% x>y, 0°< x4y < B0°, EEH

x &7y T 9

=3 sin(x+ =1, ms{x—y}=§ AW x>y, 0°<x+y<90° e

xﬂﬁyﬁmﬂﬁgﬁl
3

R sin(x+ yi=1, cnsi:—y}l:—é—- i x>y, ﬂ“5x+y£9ﬂ“.
A x 3 y T WH i i

21. If the tangents PA and PBE from a point P to a circle with centre O
are inclined to each other at an angle of 80° then find #POA. 2

3t b1 7 P 2 °M@ O (FEYF @) J99 PA W% PB = Fo[# *@@oq
80° 1 T4, (5@ LPOA By =41 |

i a3 g P a9 (03 O Fuge 3 7o PA @@ PB =3 w5
*ff=[ 80° (F Fd, BEH LPOA i T

Fog o ol P fwm O Pl a8 deaf PA s PR wifie d0an
TEEE 80° @ BWTEl, e LPOA fiAm fig

o UF g P A O %= 9 B 98 w PA ¥ PB et wem 80°
= 0 R g F, 9 LPOA T U gW Hifem
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( 10 )

22, A box contains 3 blue, 2 white and 4 red marbles. If & marble is

drawn at random from the box, then what is the probability that it
will be (&) white and (b} red?

ﬂﬁw%ﬁﬁﬁw,ﬁwwmﬁﬁamwﬁﬂﬂﬁlﬁﬂﬁw
ST BT =, (08 <a0H (o) 3 W (b) 28] AR e A 7

o A Fol T, 1 T @ SAG A W Wy | IR A
TfeEEiy B T, O oft (o) W R (b) AE 2ORE IR TS 7

17 rgHE T 3 B, W 2 I S W 4 T wEewn 7| R T
T AT A T, A W gl 36 (o) T S () T

w o=t 4 3 i, 2 ok it 4w oW B o B A 9 3Rk U W
TE=eT FEren s R, @ e s ahea ¥ feEn T S () R
g1 (b) T 27

23. Mr. X and Mr. Y are two friends. What is the probability that both
will have (a) different birthdays and (b) the same birthday?
(Ignoring a leap year)

iR X = fEA Y 1 9 | YO (o) TE wis 9= 3) o s
EmE e & (Feirmam )

fedm X v Fe0m Y e 99 O (o) R wafm g3 @) 3% farm
wfi 2o e &0 (B am )

ﬁmxmﬁﬁmfﬂﬁiﬂfﬁfﬁlﬂﬁﬁiﬁmwﬁ??ﬁmmmm}qﬁ
M #H s ®EA| (Leap year @ smmard)

AP X AR A Y S 3R R R i R @) 3 % i
HEFT-3TER B A (B) TR W W ey (e =1 ggew)

B21-GM/30A  Eondi
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SECTION—C / s—= 41 [ 91—yt / —amgr [ 1—am

Prove that 3+ 2+/5 is irrational.

o T B4+ 245 wefTm L @EgE
o1 S 1 3+ 246 wifiow ) ® ;
A @ & 3+ 245 = vt

g =hife &6 34245 = i dem 1)

Find the guadratic polynomial whose zeros are —4 and ~3-

2
ﬂﬁﬁﬂww*ﬂmﬁr—dwgqﬁ,ﬁm&ﬁﬁn

<5 fAgre Tasnm 2o — 4 a3y gﬁtﬁ,ﬁ'ﬁﬁiﬁﬂﬁml

s S e e i 4 o 2. freria o fig

ﬁma@%ﬂ%ﬁ%ﬁlﬂ#ﬂﬂﬁﬁ—ﬁh%

Find the roots of the following equation :
TAT HAFATOM JACTED] T A e
Siesa Siwafba ymef fd s %
T FAEETEF e B
Frafafian e 95 e fifew

V222 472+ 542 =0

B21-GM/30A
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i t
27. An AP consists of 50 terms of which 3rd term 15 12 and the las
term is 106. Find the 29th term.

b1 AT iifes 5@%%1%@@12%%9@ 106
578, 2099 #0l WeE 94 |

b T oS 50B o R | oW PO o 12 @3 S o 106
e, 20T Wb e 0 |

e e S w50 Frem 31 A amiy faweEn 12 I S
o 106 smaven, 29 T4 femEsn B

T T A T 50 W8 B, R dew w12 & ¥R st . 106 21 F6=1
2051 12 I1d HiaT|

28. The diagonals AC and BD of a trapezium ABCD with AB || DC

OB
intersect each other at the point O. Show that QA

=

ocC oD
ABCD Gffemm AB || DC, AC W BD 3+f7ewe O frge s@=+m 690

. . 0A OB
TR A e =on

ABCD Tnifemmca AB || DC, AC <% BD i O fmgs *mrem
bR @ | crne o 24 = OB

oc oD

ABCD 3Iffwmft AB || DC, AC =W BD @ =/ i O faiama
mﬁiﬂﬁaﬂn'ﬁﬁllﬁﬁﬁﬁz-@,
oC OD

% "eE ABCD, 8 AB || DC, % &t AC i BD wem fag O m
OA OB
W i B e e =—— = =
OC oD
B21-GM/S0A [ Contd.
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29. If @(0,1) is equidistant from P(5,—3) and R(x,6), then find the
value of x. Also, find the distances QR and PR. 3

% Q(0,1) P P(5, —3) WIF R(x,6)4 o[ AT, (508 x T WA
Bfyed] | TS QR W PR TEECaEh SEed |

2® Q0,1 s P(5,—3) @ R(x,6) < (WF TS, THA £
T Fiefy %A | % QR <%t PR qrgsf P ¥

g Q(0,1) Frdien P(5,—-3) ¥ R(x,6) 1 ok FFHAEH Z,
mxﬁﬂﬁﬁﬁqlﬁ?ﬁﬁQﬁaﬁPRﬁmﬁﬁﬂl

7% Q0,1 Frgsit P(5, -8 3 R(x,6)d ¥¥5 2, @t x = AH T
ifs) gt QR 3 PR it 3 i

90. Find the coordinates of the point which divides the line joining the
points (-1, 7) and (4, —3) in the ratio 2 : 3. _ s |

R (—1,7) S (4, —8) 3 A AT 9 : 3 SIS =17 I oM
FE g 4

ﬁ‘i{—l,ﬂmu,—a}ﬂmﬁ ST 2 3 TS wl F A
I et A |

(—1,7) @A (4, —3) ) eemEn A TE e 2: 3 TYEaE
T i A e B

< g & PSwie T Hif, S et (—1,7) iR (4, —8)  firem I
Yards H1 2 - 3% s A R e
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( 14 )

81. Evaluate /TR fefy 31 / T Fefy a1 / w8 foge /73 S T

sin 30°+tan 45°— cosec 60°
gec 30°+ cos 60°+ cot 45°

32. The cost of fencing a circular field at the rate of ¥ 24 per metre ]2_5
¥ 5,280. The field is to be ploughed at the rate of #(-50 per m*~.

Find the cost of ploughing the field.

#f® b 24 531 o9e 9vw EHR 99@T (@9 IS 5,280 T =6
=0 | YR @fE <sfbEe 0-50 T 29w 9F 9@ A | AR 25 AR
46 e =1

i b 24 B TeA 9 TERE YR (AT (RSTE FIE 5,280 B
w6 o | T 4fe 25y 0-50 SR TrE Tm BE TS 5A | Ana TE
Preaiointii e il

qAE del el Sk @8 dewm fensme 24 U@ 5,280 U W
HURE! BAHE 1 WErEE 0-50 U2 B A e | RYREE we TS
e fog |

qmgﬂﬁmﬁﬂqtEdﬁnﬁﬁﬁaﬁﬂﬁmmﬁmmﬂﬁ,ﬁsﬂﬁa%!'ﬁ
@a i 0-50 Fo Wi T Hew R A gard w0 9+ B ww A g = -
=5 1 Hifa )

33. In a circle of radius 21 cm, an arc subtends an angle of 60° at the

centre. Find (a) the length of the are and (b) the area of the sector
formed by the arc. 3

21em TP IB1 JTE, B WA @S Bl 60° g o
() BICEM Tl Wﬁ)ﬂﬁ?wmmmmﬁ:ﬁﬁﬁm

21 cm TPIHTE T8, T B ToM7 @0 60° e Beorg —
fﬂ)mmﬂifb)W@WEtﬂﬂqﬁmmwﬁfﬁr

B21-GM/30A [ Contd.
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S SEh g EEa 21 em ST TR dern s 60° @' wmi TEt
(o) ST TTIATE A (B) e ST A g G

fre 21 om 9 9 H T =W F5 W 60° F v 3 wat 81 (a) 5
5wt 3R (B) =W gW FA T s W AE A I EeE
OR [ gt 5y / van] HaEn é%

Find the area of the sector of a circle with radius 4 cm and of
angle 30°. Also, find the area of the corresponding major sector.
(Use = =3-14) 3

4 cm TPTHGE WF 30° (FPR B 789 JEFOINR e Fefy T | A
el 4 TIEICHR A e 4 | (= 814 i 4fF0) '

4 om PGS @ 30° @UE 3% I FEEALA e e =
7% S 94 TSI oFage el Tl | (n = 3:14 T 4

A8 ST TEE 4cm W e AWbEE @I 30°. G
ety g | i, AfE R R g R (x = 3-14 #)

ﬁm,;anmé‘:ﬁgﬂ%ﬁmm érwe T S, T w=m Bl}';%l
e, dma < fewee W dmwa o I R (7 = 3-14 =1 TEW L)
SEETTDNH—DI'H—’WWF‘E—WWFH—ETF‘PII‘E—W %
Eeiet:

34, Find the zeroes of the polynomial £2 _3 and verify the relationship
between the zeroes and the coefficients. 4

<2 3 T S SRiedl W R AR W TR A oA
SfZrw] %41 |
<23 TeomlA U W I R E OFeR o e Ty T
{3 T |

;E—Eﬁmﬁlﬁfﬁaﬁuﬁmﬁﬁgﬁmﬁ%mﬁﬁ’ﬂtﬁmmﬁmﬁ
ey e AR EE |

Wxﬁ-aﬁwmmmmmmﬁﬁa%ﬁqﬁ
e 1 =i i

B21-GM/30A [ Contd.
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35. For which values of a and b does the following pair of linear

" * x, J < ';
equations have an infinite number of solutions: .
nﬂﬁbaﬁﬂmmwmﬁnﬁrﬂwﬂﬂ“’h‘ﬁwm
i 2
a @3 b3 & om osmm T Eﬁﬁﬂ%ﬂﬁmﬂmﬂmﬂﬂ HRETT FAE
Y 7
ualﬁbﬁmnﬂﬁmmnmmﬁg@Hﬁmmﬂﬂﬁm‘ﬁﬁ
AT 9T 7
uaﬂlb#ﬁﬁwﬁ%ﬁqﬁﬂ%ﬁﬂﬁﬁ@maﬂwﬂ%gﬂ%mﬁﬂ
¥ T w17

%% +3y="T, (a—blx+(a+bly=3a+b-2
36. Prove that the tangents at the ends of a diameter of a circle are
4

parallel.
2T 91 (7 59 IPA TS bl =PIFIR T |

ST FCA (0 JUTA WA WGE T =epfeal FaEE |
Tl TR wEEE S dee R S TiE g T S
E?ﬁﬁﬁﬁmaﬂ%ﬁﬁﬁm%ﬁﬁmﬁﬂﬂﬁ-ﬁﬁm
|
OR [ =51/ 5ye1/ waw [ seEr

Prove that in two coneentric circles, the chord of the larger circle
which touches the smaller circle, is bisected at the point of mnta-:t}
Two concentrie circles are of radii 5 cm and 3 em. What is the lengtl;
of the chord of the larger circle which touches the smaller circle? 3+1=4

2 T @ b1 IS I, WA TR WO T JEE

Wﬂ*ﬁ’ﬁﬂﬁﬂrﬁﬂlﬁmwﬂumWﬁm
ST, | TIE 59 GICE 5 THOWF = I, WS4 o] Fopmypy o

mwmmmm.ﬁmmmm;ﬁm
b = RS RS 1 5 om 3 om TP 5 G o
T 1 5 7097 T e TS 7, o o ®
Wi a2 A e S ghe e e YRE

T T AR 0B, R 3 ) e

B21-GM/30A
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i.']-:nrlsi:rlr::!:3 a triangle similar to a given triangle ABC with its sides
equal to Y of the corresponding sides of the triangle ABC. (Write

the steps of construction.)
a5 Fif2 fagm ABC 3 7wpile wm ol fiom s 941 A0e F A
mﬂmﬁ%ﬂm%@ﬂml{wwwl}

aafs R frss ABC @1 701 = =l frgs wmm <0 @fbee «oF amgh
Aﬂﬂﬁ?ﬁﬂwmﬂﬁﬁ%ﬁﬁﬁﬂﬁl (wmrera e B 1)

Aﬁﬂﬂmﬁﬁwﬁﬁrﬁﬁmﬁﬁnﬁ%ﬁmmﬁﬁﬁmﬂm

srarfaum ABC T wew smanfuam snfia| (snfism armere fotl)
o 1 Bym ABC ¥ wwew v fivm £ = i, fed gend fag m

ﬁﬁaﬂﬂcﬁwmﬁgﬁliﬁm%aﬁﬁﬁml}

SECTION—E [/ & —=1sf / & —i<1 / S—=rgrn / —97

A solid toy is in the form of a hemisphere surmounted by a right-
circular cone. The height of the cone is 2 em and the diameter of
the base iz 4 em. Determine the volume of the toy. (Take w = 3-14)

&5 SreEa SeFT Wb WA TR <A A el o W 9@ o

o[wE FCEE] (%R | PN P9l 2 cm W FRA M 4 em. SHLEH
o e @41 | (= 3-14 3 490

aF WHETEa B GG - T AW GI0 CEFT 2ES T A |
wa Twel 2em GR PEE AR 4em. CEEGT WEEA R A
(7 =314 77 4FA)
ﬁﬁﬁﬂ'mwwﬁhmwmwmm

e SaEd 2 em A BT WE 4 em. FEETE UsTmE fag) gf
iR FrEei gre Fae Rl 9w e S Faen Usnri s

el (v =314 ¥9)
v 3 s i F aen W B W T a0 s )
g 1 = & 2 em 3R U W W 4 em 1 T fEER # 9w I

Fifm| (x = 3-14 wifau)

[ Contd.
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= ts gdﬂﬁtted in a
39. The following table shows the ages of the patien
hospital during a year : ——
55 | 35-65
Age (in years) = 15 | 15-25 | 25-35 | 3545 ‘*51'4 :
Number of pafients 6 11 21 23

Find the mode of the data given above.
o] 1 T 4 PofeTEs % (g (I T T TS TS
TH ;

(e} | 515 | 15-25 | 25-35 | 3545 45-55
i am 5 11 21 23 14 5

55-65

aoEs oy S TS TEad |

e a5 TEA ﬁﬁmﬁﬁawaﬁmmﬁﬂmﬁmm
| e BT |

T (T ) 5-15 15-25 | 25-35 | 3545 | 45-55 | 5565
i 6 11 21 23 14 5

Tom CRaT TSI TS T =

T geEn e W S e | frem daferd
St e

I_#i?ﬂﬁﬂ"ﬂm} 5-15 | 1525 | 25-35 | 35-45
dufisfy i 6 11 21 23

T BEm i e R

45-35 595-65

14 5

Fretatias anvll Fedt smas 8 o Rem wd & o
=z & : A A amg

s (= ) 5-15 | 15-25 | 25-35 | 3545 | 4555 | s5.65
ﬂﬂﬂ?ﬁ#ﬁr 6 11 21 23 14 5
T it % ages A ik

B21-GM/B0A
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OR / 54t / wepay / war / sreran
If the median of the distribution given below is 285, then find the
values of x and y : 5
T fSTEET TUrEl 28°5, (orn x W% y 3 IR BRied
Sliced RSTETTa J41 285, S x @93 y @7 W Fefy T
TETETE B THAREH T 28-5, we o o y f am R

afe e faw gu %23 F1 w285 9, i x 3wy F W T AR ;

Class interval [ == | Frequency/ TATE]
T ) uTE Gy o viane | TR TR AT

0-10 5

10-20 x

20-30 20

30-40 15

40-50 y

50-60 >

Total | §3/ 15/ T @i 60

W W %

B21-GM/30A 2-21



